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SETS

Example

1. Write the following sets in tabular form : 

(i)  and } 

(ii)  and } 


(iii) 

x : x = , n ∈ W
2n

n + 2
n < 3

{x : x = 5y − 3, y ∈ Z −2 ≤ y < 2

{x : x ∈ W  and 8x + 5 < 23}

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_O3U9FzRpYDet


Watch Video Solution

2. Express the following sets in set-builder form : 

(i) , 

(ii) {0,3,56,9,12,15,18} 

(iii)  


(iv) 

Watch Video Solution
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1
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[x : x2 − 6x − 7 = 0]

3. Given the universal set

, list the, ∑ = {x : x ∈ N, 15 < x ≤ 26}

https://dl.doubtnut.com/l/_O3U9FzRpYDet
https://dl.doubtnut.com/l/_GR0xXMjdUjdO
https://dl.doubtnut.com/l/_ROfZj7EPygkb


elements of the following sets: 

(i) , (ii) 

Watch Video Solution

A = {x : x > 20} B = {x : x ≤ 21}

4. If A =factors of 24} and B={factors of 36}, find, (i)

, (ii) 

Watch Video Solution

A ∩ B A ∪ B

5. For two overlapping sets A and B, draw Venn-

diagrams to represent the set

Watch Video Solution

https://dl.doubtnut.com/l/_ROfZj7EPygkb
https://dl.doubtnut.com/l/_Wu0pbMsw3bfG
https://dl.doubtnut.com/l/_sUK1UToXeU7z


6. Use Venn-diagrams to prove that:

Watch Video Solution

(A ∩ B)' = A' ∪ B'

7. Given,  


A={x:x is divisible by 3} and B={12,14,15,16} 

Draw a Venn-diagram to show the relationship

between the given sets.

Watch Video Solution

ζ = {x : x ∈ N, 12 ≤ x ≤ 20}

https://dl.doubtnut.com/l/_sUK1UToXeU7z
https://dl.doubtnut.com/l/_zfvkg6KkcsDv
https://dl.doubtnut.com/l/_yUEphalnVvx6


Exercise 6 A

1. Write the following sets in roster (Tabular) form

: 

(i) , 


(ii) , 


(iii)  


(iv)  is a two digit number and sum of

the digits of x is 7} 

(v)  


(vi) 

Watch Video Solution

A1 = {x : 2x + 3 = 11}

A2 = {x : x2 − 4x − 5 = 0}

A3 = {x : x ∈ Z, − 3 ≤ x < 4}

A4 = {x : x

A5 = {x : x = 4n, n ∈ W  and n < 4}

A6 = {x : x = , n ∈ N  and n > 5}
n

n + 2

https://dl.doubtnut.com/l/_FUmpgAKq8SK5


2. Write the following sets in set-builder (Rule

Method) form : 

(i)  


(ii)  


(iii)  


(iv)  


(v)  


(vi) 

Watch Video Solution

B1 = {6, 9, 12, 15…. . }

B2 = {11, 13, 17, 19}

B3 = { , , , , …}
1

3

3

5

5

7

7

9

9

11

B4 = {8, 27, 64, 125, 216}

B5 = { − 5, − 4, − 3, − 2, − 1}

B6 = {.... . , − 6, − 3, 0, 3, 6.... . }

https://dl.doubtnut.com/l/_z9uIx3YpavNF


3. Is {1,2,4,16,64} = {x: x is a factor of 32} ? Give

reason.

Watch Video Solution

4. Is {x : x is a factor of 27}  {3, 9, 27, 54} ? Give

reason.

Watch Video Solution

≠

5. Write the set of even factors of 124.

Watch Video Solution

https://dl.doubtnut.com/l/_bbvQQdavZE9a
https://dl.doubtnut.com/l/_4dDKTFhKkjqH
https://dl.doubtnut.com/l/_2UxHW4FE8X9Z


6. Write the set of odd factors of 72.

Watch Video Solution

7. Write the set of prime factors of 3234.

Watch Video Solution

8. Is  ?

Watch Video Solution

{x : x2 − 7x + 12 = 0} = {3, 4}

https://dl.doubtnut.com/l/_2UxHW4FE8X9Z
https://dl.doubtnut.com/l/_Uy9LEDozvcRh
https://dl.doubtnut.com/l/_teht9v0eHxnp
https://dl.doubtnut.com/l/_VX3h2ZKkKDth


9. Is ={2,3}` ?

Watch Video Solution

{x : x2 − 5x − 6 = 0}

10. Write the following sets in Roster form : 

The set of letters in the word 'MEERUT'.

Watch Video Solution

11. The set of letters in the word 'UNIVERSAL'.

Watch Video Solution

https://dl.doubtnut.com/l/_9QxmmHtl8Zfs
https://dl.doubtnut.com/l/_MCSwYrRuU5N9
https://dl.doubtnut.com/l/_rbK6iPFbqijV


12. 

Watch Video Solution

A = {x, x = y + 3, y ∈ N  and y > 3}

13. 

Watch Video Solution

B = {p : p ∈ W  and p2 < 20}

14. C={x:x is a composite number and }

Watch Video Solution

5 ≤ x ≤ 21

https://dl.doubtnut.com/l/_7wkQay42QAMk
https://dl.doubtnut.com/l/_jRnXUpdTAcKx
https://dl.doubtnut.com/l/_dDGW2TfXzxJ2


15. List the elements of the following sets: 

Watch Video Solution

x2 − 2x − 3 = 0

16. 

Watch Video Solution

{x : x = 2y + 5, y ∈ N  and 2 ≤ y < 6}

17. {x : x is a factor of 24}

Watch Video Solution

https://dl.doubtnut.com/l/_kFSCyDQWP3Kn
https://dl.doubtnut.com/l/_Ygiy9hFfOmjP
https://dl.doubtnut.com/l/_H1NbqfEtVXyM


18. 

Watch Video Solution

{x : x ∈ Z  and x2 ≤ 4}

19. 

Watch Video Solution

{x : 3x − 2 ≤ 10  and x ∈ N}

20. 

Watch Video Solution

{x : 4 − 2x > − 6, x ∈ Z}

https://dl.doubtnut.com/l/_4xFDvGdOM6Qu
https://dl.doubtnut.com/l/_XZrsIWMRzpOr
https://dl.doubtnut.com/l/_wzx287zuBOdk


Exercise 6 B

1. Find the cardinal number of the following sets: 

Watch Video Solution

A1 = { − 2, − 1, 1, 3, 5}

2. 

Watch Video Solution

A2 = {x : x ∈ N  and 3 ≤ x < 7}

3. A = {p : p ∈ W  and 2p − 3 < 8}

https://dl.doubtnut.com/l/_aOFttpTeRfau
https://dl.doubtnut.com/l/_55qQ8RJDSKtK
https://dl.doubtnut.com/l/_Ce2ZsNAlwEMB


Watch Video Solution

4. 

Watch Video Solution

A4 = {b : b ∈ Z  and − 7 < 3b − 1 ≤ 2}

5. If P = {p : p is a letter in the word 'PERMANENT'},

find n(P).

Watch Video Solution

https://dl.doubtnut.com/l/_Ce2ZsNAlwEMB
https://dl.doubtnut.com/l/_mpXMD5qGOsgi
https://dl.doubtnut.com/l/_A48HyxQ7MAJi


6. State, which of the following sets are finite and

which are infinite : 

Watch Video Solution

A = {x : x ∈ Z  and x < 10}

7. 

Watch Video Solution

B = {x : x ∈ W  and 5x − 3 ≤ 20}

8. 

Watch Video Solution

P = {y : y = 3x − 2, x ∈ N  and x > 5}

https://dl.doubtnut.com/l/_9QjDvFeJnTtf
https://dl.doubtnut.com/l/_amqX4OeTjBEH
https://dl.doubtnut.com/l/_OvRO9I5uE4et


9. Check whether it is finite or not

Watch Video Solution

M = {r : r = , n ∈ W  and 6 < n ≤ 15}
3

n

10. Find, which of the following sets are singleton

sets : 

The set of points of intersection of two non-

parallel straight lines on the same plane.

Watch Video Solution

https://dl.doubtnut.com/l/_OvRO9I5uE4et
https://dl.doubtnut.com/l/_EeAYLixkiMti
https://dl.doubtnut.com/l/_I2aBLnAf9IWX
https://dl.doubtnut.com/l/_tWOkIfNIFL6W


11. Find, which of the following sets are singleton

sets :

A={x : 7x -3=11}`

Watch Video Solution

12. 

Watch Video Solution

B = {y : 2y + 1 < 3  and y ∈ W}

13. Find, which of the following sets are empty : 

The set of points of intersection of two parallel

https://dl.doubtnut.com/l/_tWOkIfNIFL6W
https://dl.doubtnut.com/l/_HNwFcj9FkX84
https://dl.doubtnut.com/l/_Af2a0RJKGGH0


lines.

Watch Video Solution

14. 

Watch Video Solution

A = {x : x ∈ N and 5 < x ≤ 6}

15. 

Watch Video Solution

B = {x : x2 + 4 = 0  and x ∈ N}

https://dl.doubtnut.com/l/_Af2a0RJKGGH0
https://dl.doubtnut.com/l/_wK1kyT2CC6F0
https://dl.doubtnut.com/l/_MgnezCUtzmAG


16. C = {even numbers between 6 and 10}.

Watch Video Solution

17. D = {prime numbers between 7 and 11}.

Watch Video Solution

18. Are the sets  and 

 disjoint?

Watch Video Solution

A = {4, 5, 6}

B = {x : x2 − 5x − 6 = 0}

https://dl.doubtnut.com/l/_4CIaepsccRuT
https://dl.doubtnut.com/l/_kWCwVOcImxCH
https://dl.doubtnut.com/l/_0ALUDcGZSsMb


19. Are the set  and 

joint?

Watch Video Solution

A = {b, c, d, e}

B = {x : x  is a letter in the word 'MASTER'}

20. State, whether the following pairs of sets are

equivalent or not: 

 and 

Watch Video Solution

A = {x : x ∈ N  and 11 ≥ 2x − 1}

B = {y : y ∈ W  and 3 ≤ y ≤ 9}

https://dl.doubtnut.com/l/_5rGzhOT2vp4l
https://dl.doubtnut.com/l/_oXxJsSdrUZQ2
https://dl.doubtnut.com/l/_nooCKgqdk5Y8


21. State, whether the following pairs of sets are

equivalent or not: 

Set of integers and set of natural numbers.

Watch Video Solution

22. State, whether the following pairs of sets are

equivalent or not: 

Set of whole numbers and set of multiples of 3.

Watch Video Solution

https://dl.doubtnut.com/l/_nooCKgqdk5Y8
https://dl.doubtnut.com/l/_R8chF3U9N8Fo


23. State, whether the following pairs of sets are

equivalent or not: 

 and 

Watch Video Solution

P = {5, 6, 7, 8}

M = {x : x ∈ W  and x ≤ 4}

24. State, whether the following pairs of sets are

equal or not: 

 and 

Watch Video Solution

A = {2, 4, 6, 8}

B = {2n : n ∈ N  and n ≤ 4}

https://dl.doubtnut.com/l/_dfjbxuck2eCB
https://dl.doubtnut.com/l/_wY7jOMjm6Zb8


25. State, whether the following pairs of sets are

equal or not: 

 and 

Watch Video Solution

M = {x : x ∈ W and x + 3 < 8}

N = {y : y = 2n − 1, n ∈ N  and n < 5}

26. State, whether the following pairs of sets are

equal or not: 

 and 

Watch Video Solution

E = {x : x2 + 8x − 9 = 0} F = {1, − 9}

https://dl.doubtnut.com/l/_wY7jOMjm6Zb8
https://dl.doubtnut.com/l/_ZtBHSGXBrXxQ
https://dl.doubtnut.com/l/_plwQFIDp7HHB


27. State, whether the following pairs of sets are

equal or not: 

 and 

Watch Video Solution

A = {x : x ∈ N, x < 3}

B = {y : y2 − 3y + 2 = 0}

28. State whether each of the following sets is a

finite set or an infinite set: 

The set of multiples of 8

Watch Video Solution

https://dl.doubtnut.com/l/_CU3s73PbsYAh
https://dl.doubtnut.com/l/_lsW8MdzrRIf3
https://dl.doubtnut.com/l/_Vwsnf9NswiiM


29. State whether each of the following sets is a

finite set or an infinite set: 

The set of integers less that 10.

Watch Video Solution

30. State whether each of the following sets is a

finite set or an infinite set: 

The set of whole numbers less than 12.

Watch Video Solution

https://dl.doubtnut.com/l/_Vwsnf9NswiiM
https://dl.doubtnut.com/l/_tVsxXPXn0QSh


31. State whether each of the following sets is a

finite set or an infinite set: 

Watch Video Solution

{x : x = 3n − 2, n ∈ W , n ≤ 8}

32. State whether each of the following sets is a

finite set or an infinite set: 

Watch Video Solution

{x : x = 3n − 2, n ∈ Z, n ≤ 8}

https://dl.doubtnut.com/l/_s5Cvk2KP9bQk
https://dl.doubtnut.com/l/_nyJyxEAqfO7Z


33. 

Watch Video Solution

{x : x = , n ∈ W}
n − 2

n + 1

34. Answer, whether the following statements are

true or false. Give reasons. 

The set of even natural numbers less than 21 and

the set of odd natural numbers less than 21 are

equivalent sets.

Watch Video Solution

https://dl.doubtnut.com/l/_OBY4oBLoNlKm
https://dl.doubtnut.com/l/_2ZRNkAiqUHBM


35. If E = {factors of 16} and F = {factors of 20}, then

E = F.

Watch Video Solution

36. The set A = {integers less than 20} is a finite set.

Watch Video Solution

37. If A = {x: x is an even prime number}, then set A

is empty.

Watch Video Solution

https://dl.doubtnut.com/l/_x2Z2ZIl2YCz5
https://dl.doubtnut.com/l/_GFC8RIWmzsfX
https://dl.doubtnut.com/l/_9BWAXWC39c24


38. The set of odd prime numbers is the empty set.

Watch Video Solution

39. The set of squares of integers and the set of

whole numbers are equal sets.

Watch Video Solution

40. If n(P) = n(M), then P  M.

Watch Video Solution

→

https://dl.doubtnut.com/l/_9BWAXWC39c24
https://dl.doubtnut.com/l/_9Zw2y58JVT1Z
https://dl.doubtnut.com/l/_IaH05eFXvUd3
https://dl.doubtnut.com/l/_eexCuckTCTxw


Exercise 6 C

41. If set P = set M, then n(P) = n(M).

Watch Video Solution

42. 

Watch Video Solution

n(A) = n(B) ⇒ A = B

https://dl.doubtnut.com/l/_eexCuckTCTxw
https://dl.doubtnut.com/l/_mjE6IeexCYGS
https://dl.doubtnut.com/l/_sUiqPRoHvl5T


1. Find all the subsets of each of the following sets

: 

(i) A={5,7}, (ii) B={a,b,c} 

(iii) , (iv) {p:p is a letter in

the word 'poor'}

Watch Video Solution

C = {x, x ∈ W , x ≤ 2}

2. If C is the set of letters in the word 'cooler', find: 

(i) setC (ii) n ( C) 

(iii) number of its subsets (iv) number of its proper

subsets

h id l i

https://dl.doubtnut.com/l/_DVS99eLA272h
https://dl.doubtnut.com/l/_N2PKctoqpLvK


Watch Video Solution

3. If T = {x: x is a letter in the word 'TEETH'}, find all

its subsets.

Watch Video Solution

4. Given the universal set = {-7, -3, -1, 0, 5, 6, 8, 9},

find : 

(i) , (ii) 

Watch Video Solution

A = {x : x < 2} B = {x : − 4 < x < 6}

https://dl.doubtnut.com/l/_N2PKctoqpLvK
https://dl.doubtnut.com/l/_n753NLnztdyb
https://dl.doubtnut.com/l/_xVqhZAtbb57I
https://dl.doubtnut.com/l/_i0zjxMf8dWnH


5. Given the universal set

, find: 


(i)  


(ii)  


(iii) 

Watch Video Solution

= {x : x ∈ N  and x < 20}

A = {x : x = 3p, p ≠ N}

B = {y : y = 2n + 3, n ∈ N}

C = {x : x  x is divisible by 4}

6. Find the proper subsets of

.

Watch Video Solution

{x : x2 − 9x − 10 = 0}

https://dl.doubtnut.com/l/_i0zjxMf8dWnH
https://dl.doubtnut.com/l/_4mBnn0maQbhq


7. Given, A = {Triangles}, B = {Isosceles triangles}, C =

{Equilateral triangles}. State whether the following

are true or false. Give reasons. 

(i) , (ii) , (iii) , (iv) , (v) 

, (vi) 

Watch Video Solution

A ⊂ B B ⊆ A C ⊆ B B ⊂ A

C ⊂ A C ⊆ B ⊆ A

8. Given, A = {Quadrilaterals}, B = {Rectangles}, C =

{Squares}, D = {Rhombuses}. State, giving reasons,

whether the following are true or false. 

https://dl.doubtnut.com/l/_dHqZPtGB4X4K
https://dl.doubtnut.com/l/_aDPdvSMBJUkg


(i) , (ii) , (iii) , (iv) 

, (v) , (iv) 

Watch Video Solution

B ⊂ C D ⊂ B C ⊆ B ⊆ A

D ⊂ A B ⊇ C A ⊇ B ⊇ C

9. Given, universal set

and . Find: (i) A', (ii) B'

Watch Video Solution

= {x : x ∈ N, 10 ≤ x ≤ 35}, A = {x ∈ N : x ≤ 16}

B = {x : x > 29}

10. Given, universal set = ,

N={n:n is a non-negative number} and P={x:x ia a

{x ∈ Z : − 6 < x ≤ 6}

https://dl.doubtnut.com/l/_aDPdvSMBJUkg
https://dl.doubtnut.com/l/_deltE2AtHipb
https://dl.doubtnut.com/l/_xLVEmYxjnreB


non-positive number}. Find: 

(i) N', (ii) P'

Watch Video Solution

11. Let M={letters of the word REAL} and N={letters

of the word LARE}. Write sets M and N in roster

form and then state whether: 

(i)  is true. 


(ii)  is true. 


(iii) M=C is true.

Watch Video Solution

M ⊆ N

N ⊆ M

https://dl.doubtnut.com/l/_xLVEmYxjnreB
https://dl.doubtnut.com/l/_GslQHSQtbSIV


Exercise 6 D

1. Given  and 

. Find : 


(i) sets A and B in roster form: 

(ii) , (ii) , (iii) A-B, (iv) B-A

Watch Video Solution

A = {x : x ∈ N  and 3 < x ≤ 6}

B = {x : x ∈ W  and x < 4}

A ∪ B A ∩ B

2. If  and 

. Find : 

(i)  and  


(ii) Is  ?

P = {x : x ∈ W  and 4 ≤ x ≤ 8}

Q = {x : x ∈ N  and x < 6}

P ∪ Q P ∩ Q

(P ∪ Q) ⊃ (P ∩ Q)

https://dl.doubtnut.com/l/_x2DAfGFC8r4F
https://dl.doubtnut.com/l/_yFcozExb0ugl


Watch Video Solution

3. If A = {5, 6, 7, 8, 9},

 and 

. Find : 

(i)  and  


(ii)  and  


(iii)  and  


(iv)  and  


Is ? 


Is ?

Watch Video Solution

B = {x : 3 < x < 8  and x ∈ W}

C = {x : x ≤ 5  and x ∈ N}

A ∪ B (A ∪ B) ∪ C

B ∪ C A ∪ (B ∪ C)

A ∩ B (A ∩ B) ∩ C

B ∩ C A ∩ (B ∩ C)

(A ∪ B) ∪ C = A ∪ (B ∪ C)

(A ∩ B) ∩ C) = A ∩ (B ∩ C)

https://dl.doubtnut.com/l/_yFcozExb0ugl
https://dl.doubtnut.com/l/_eyZeAIA5g65t


4. Given A = {0,1, 2,4, 5}, B = {0,2,4, 6, 8} and C = {0, 3,

6, 9}. Show that: 

(i)  i.e., the union of

the sets is associative. 

(ii)  i.e., the

intersection of sets is associative.

Watch Video Solution

A ∪ (B ∪ C) = (A ∪ B) ∪ C

A ∩ (B ∩ C) = (A ∩ B) ∩ C

5. If

and . Find: 


A = {x ∈ W : 5 < x < 10}, B = {3, 4, 5, 6, 7}

C = {x = 2n, n ∈ N  and n ≤ 4}

https://dl.doubtnut.com/l/_RLsZhSKG4UTr
https://dl.doubtnut.com/l/_YP0ac5qxHLj9


(i) , (ii)  


(iii) , (iv)  


Name the sets which are equal.

Watch Video Solution

A ∩ (B ∪ C) (B ∪ A) ∩ (B ∪ C)

B ∪ (A ∩ C) (A ∩ B) ∪ (A ∩ C)

6. If P = {factors of 36} and Q = {factors of 48}, find : 

(i) , (ii) , (iii)  , (iv) 

Watch Video Solution

P ∪ Q P ∩ Q Q − P P ' ∩ Q

7. If  and 

, find: 


A = {6, 7, 8, 9}, B = {4, 6, 8, 10}

C = {x : x ∈ N : 2 < x ≤ 7}

https://dl.doubtnut.com/l/_YP0ac5qxHLj9
https://dl.doubtnut.com/l/_tvwQZfHPd3R7
https://dl.doubtnut.com/l/_tcBoRiPBPl6c


(i) A-B, (ii) B-C, (iii) B-(A-C), (iv)  


(v) , (vi) B-B

Watch Video Solution

A − (B ∪ C)

B − (A ∩ C)

8. If A = {1, 2, 3, 4, 5}, B = {2, 4, 6, 8} and C = {3, 4, 5, 6},

verify: 

(i)  


(ii) 

Watch Video Solution

A − (B ∪ C) = (A − B) ∩ (A − C)

A − (B ∩ C) = (A − B) ∪ (A − C)

https://dl.doubtnut.com/l/_tcBoRiPBPl6c
https://dl.doubtnut.com/l/_zrGDJz0hHsDs


Exercise 6 E

9. Given  and 

. Show that: 


(i)  


(ii) 

Watch Video Solution

A = {x ∈ N : x < 6}, B = {3, 6, 9}

C = {x ∈ N : 2x − 5 ≤ 8}

A ∪ (B ∩ C) = (A ∪ B) ∩ (A ∪ C)

A ∩ (B ∪ C) = (A ∩ B) ∪ (A ∩ C)

1. From the given diagram find: 

(i)  


(ii)  


A ∪ B

A' ∩ B

https://dl.doubtnut.com/l/_Ng0hYBaO8GEh
https://dl.doubtnut.com/l/_oGA2ZBjQKwqk


(iii) A-B 

(iv) B-A 

(v)  


Watch Video Solution

(A ∪ B)'

2. From the given diagram, find: 

(i) A', (ii) B', (iii) , (iv)  A' ∪ B' (A ∩ B)'

https://dl.doubtnut.com/l/_oGA2ZBjQKwqk
https://dl.doubtnut.com/l/_q7NBLHUYv0dV


Is  ? 


Watch Video Solution

A' ∪ B' = (A ∩ B)'

3. Use the given diagram to find: 

(i)  


(ii)  


(iii) A-B 

(iv)  


A ∪ (B ∩ C)

B − (A − C)

A ∩ B'

https://dl.doubtnut.com/l/_q7NBLHUYv0dV
https://dl.doubtnut.com/l/_gjXITmbCC6yx


is ? 


Watch Video Solution

A ∩ B' = A − B

4. Use the given Venn-diagram to find: 

(i) B-A 

(ii) A 

https://dl.doubtnut.com/l/_gjXITmbCC6yx
https://dl.doubtnut.com/l/_lm1DNTYZRD9v


(iii) B' 

(iv)  


(v)  


Watch Video Solution

A ∩ B

A ∪ B

5. Draw a Venn-diagram to show the relationship

between two overlapping sets A and B. Now shade

https://dl.doubtnut.com/l/_lm1DNTYZRD9v
https://dl.doubtnut.com/l/_qflm7luihl1n


the region representing : 

(i) , (ii) , (iii) B-A

Watch Video Solution

A ∩ B A ∪ B

6. Draw a Venn-diagram to show the relationship

between sets A and B , such that . Now

shade the region representing : 

(i) , (ii) , (iii) , (iv) 

Watch Video Solution

A ⊆ B

A ∪ B B' ∩ A A ∩ B (A ∪ B)'

https://dl.doubtnut.com/l/_qflm7luihl1n
https://dl.doubtnut.com/l/_3MCubJeWLAfA


7. Two sets A and B are such that .

Draw a Venn-diagram to show the relationship

between A and B. Shade the region representing : 

(i) , (ii) , (iii) B-A, (iv) 

Watch Video Solution

A ∩ B = π

A ∪ B (A ∪ B)' B ∩ A'

8. State the sets represented by the shaded

portion of the following Venn-diagrams : 

https://dl.doubtnut.com/l/_Qf1XQyCb1A6k
https://dl.doubtnut.com/l/_3jbHxtZHLpuw


 


Watch Video Solution

https://dl.doubtnut.com/l/_3jbHxtZHLpuw


9. In each of the given diagrams, shade the region

which represents the set given underneath the

diagram : 

https://dl.doubtnut.com/l/_M9QK87pWzkdh


Watch Video Solution

10. From the given diagram, find: 

(i)  


(ii)  


(iii)  


(A ∪ B) − C

B − (A ∩ C)

(B ∩ C) ∪ A

https://dl.doubtnut.com/l/_M9QK87pWzkdh
https://dl.doubtnut.com/l/_i9GNYzeefA4D


Verify:  


Watch Video Solution

A − (B ∩ C) = (A − B) ∪ (A − C)

11. Using the given diagram, express the following

sets in terms of set A and B. 

https://dl.doubtnut.com/l/_i9GNYzeefA4D
https://dl.doubtnut.com/l/_bBS5FweHXrcp


 


(i) {a,d} , (ii) {a,d,c,f}, (iii) {a,d,c,f,g,h}, (iv) {a,d,g,h}, (v)

{g,h}

Watch Video Solution

https://dl.doubtnut.com/l/_bBS5FweHXrcp

